Scoring scheme reminder:

Clusters: Adjunction rules for redundant components ("Penalty"):
mandatory: +1.0 mandatory: -1.5
accessory: +0.5 accessory: -1.5
neutral: +0.0

exchangeable: *0.75

Compute Systems' scores given Model (A): C1 score C2 score "Penalty"
- —- — o
Model A SA 1| H1 | H2 |[ H7 | [H10 | H13 | H13 | H12 (1 +1+1x 075) + (05 + 05) _ (0) =3.75
= c1 Cc2
G4 mandat —
53 acoessory S (1+1+1x0.75) + (0.5) - (0) = 3.25

exchangeable G7
G5 accesssory loner | H1 | H2 || H7 ||[H10 | H13 | H13 | H12 .

SA_3
G10 accessory = c1 c2

(1+1+1x0.75) + (0.5 + 0.5) + (0.5) - (0) = 4.25




